Honeywell —

MP Compact4 Mark Il

Printer-Mounting Accessory Installation Instructions

These instructions describe how to install the printer-mounting accessory for the
MP Compact4 Mobile Mark Il printer.

The printer-mounting accessory is designed to keep the printer secure yet easily
accessible on a forklift or other vehicle. This accessory kit includes the adapter
plate, 57.2 mm (2.25”) ball, and associated hardware to adapt the printer for use
with the numerous mounting and attachment options available from RAM® mount.
See www.rammount.com/device/printer_mounts for the solution that best suits
your needs.

Shipping Box Contents

e 1 x RAM mount ball 57.2 mm (2.25”)
* 1 x Adapter plate

* 4 x Screws (M8X20)

* 4 x Screws (M5X12)

¢ 4 x Lock washers (M5)

Tools Required

e Hex Driver, 2.5 mm
e Hex Driver, 3mm

e Hex Driver, 5 mm

* Loctite 243




Set Up the Printer

For your safety and to avoid equipment damage, always turn the printer
power off and unplug the printer’s power cord before beginning this
installation and when performing service.

Caution

Notes:

e Use of Loctite 243 on mounting screws is recommended due to vibration.

¢ Be sure to observe and follow all safety guidelines for installation on a forklift or any
vehicle.

* Never try to adjust or operate the printer when a vehicle is in motion.

¢ See www.rammount.com/device/printer_mounts for available options
and additional safety/installation guidelines.

The factory mounting plate must be removed from the printer. If this plate is not installed
on your printer, proceed to “Install the Printer Mount” on page 3.

1 Turn off and disconnect the power from the printer.
2 Using a 2.5 mm hex driver, remove the screw and retainer bracket.

g

Scraw, . bt
Retainer Brackel ._ Y » =
N

3 Slide the mounting plate lock outward and lift the mounting plate from the printer.

\.;. Mounting Plate
S5

Mounting
Plate Lock



4 Using a 3 mm hex driver, remove the four screws and the mounting post bracket.
Once removed, proceed to the “Install the Printer Mount” on page 3.

Install the Printer Mount

1 Place the RAM mount ball onto the adapter plate as shown and secure with the four
M8 screws provided in the kit.

v
LI
RAM Mount Ball R :
‘/‘h =)

Adpater Plate  Smr——ot -

2 Position the adapter plate assembly on the printer as shown and secure with the
four M5 screws and lock washers provided in the kit.

M5 Screws &
Lock Washers

Adapler Plate
—__ Assembly



Warranty.
www.honeywellaidc.com/warranty_information

Honeywell
www.honeywellaidc.com

Copyright © 2016
Honeywell International Inc. (éD
All rights reserved. C9

act4 Mark Il Prlnter-Mount|n7

P/N: 92-2743-01



	Set Up the Printer
	Install the Printer Mount

